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Instructions to the learner

1. Read all the instructions carefully.

2. Answer all the questions in the spaces provided.
3. All working must be shown.

4. The assignment is out of 50 marks.

5. The duration is 1 hour.
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6. Approved scientific calculators may be used unless stated otherwise.
Question 1 [Properties of Numbers] 0@

The diagram below is an exact representation of the real numb tem.

Classify the numbers below in accordance with the area in whichrthey belong.

Some numbers may be repeated. 6

7 ; . \\
—§,2n,\/§,2,3,0,ﬁ ‘1@\
The Real Number System Q}
o
1.1.1 Rational Number/s Q@_s Irrational
(0 Numberls
1.1.2 Integerls CQ"
1.1.3 Whole Num
(9.\
\ A4

Write E&r answers on the spaces provided below.

1.1.1 (1)

1.1.2 (1)

1.1.3 (1)

1.1.4 (1)

1.1.5 1)
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Insert the two whole numbers on both sides of v24:

<vV24 <

tions and Calculation Techniques]

calculate the following by rounding off the numbers to the

212 2850-1155

&

=
2

6\

-
(Ve

A

(2)

[07]

(4)

2.2 Determine the exact answer for each of the calcu t@g in question 2.1 above,  (4)

2.3

by working out the errors caused by roundin

compensating for them.

221  723+586 %5»' 2850 — 1155
28
\E
O
\
A\
o\
Q}V
Multiply the followifﬁa using the column Method: (2)
1988x34  \O
O
A0
NS
Mathematics Assignment Grade 9 Term 12022 Page 3

Please Turn Over



Downloaded from Stanmorephysics.com

2.4  Use a calculator to check your answer to question 2.3.

(1)

2.5 A municipality has budgeted R80 000 for putting up new street name boards. (2)
The street name boards cost R134 each. How many new street name boards

can be put up, and how much money will be left in the budget?

Question 3 [Multiples and Factors]

[13]

3.1  Three numbers are given below. Use prime factorisation to determine the HCF  (5)

and LCM.

1848

132

462

[05]
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Question 4 [Integers]

4.1 Determine the number that makes the following statement true. (1)
53 — (a certain number) = 65

The certain number =

4.2 Calculate the following without the use of a calculator:

421 50 X 33 + 25 X 50 (3)
10 X 50 — 50 x 19

422 —-3—(=2)(5)—(—4)3 (3)
423 43_ (_ﬁ)z Yy (5)
—42 x 134+ 17
[12]
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Question 5 [Solving Problems]

5.1 Write 24 : 18 in simplest form. (1)

52 Complete the table and determine if the proportion is direct or indirect. Givea  (4)

reason for your answer.

Numbers of pens 2 6 10 20
Price in Rands 7 21 42
5.3 A farmer ploughs his lands in 12 days if he uses 5 tractors. How long will it (3)

take if he uses only 3 tractors?

5.4 Karabo and John are at the same rest stop alongside a highway. Karabo (5)
started driving along the highway at a constant speed of 80 km/h. An hour
later, John started driving along the same highway in the same direction as
Karabo at the constant speed of 100 km/h. How long will it take John to

catch up with Karabo?

[13]
The End?
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Question 1 [Properties of Numbers]

111 | -7:2,3;0;V;10 VA (1)
1.1.2 | 0:+4 :10vA )
113 | 0;+4 :10vA 1)
114 | VZ :10vA 1)
1.15 |27 ;39vA (1)
1.2 | Insert the two whole numbers on both sides of v/24: (2)
4 <24 <| 5V A
| [07]
Question 2 [Calculations and Calculation Techniques]
2.1 (4)
2.1.1 723+ 586 2.1.2 2850 — 1155
723 = 700 2850 = 2900
v A vA
586 = 600 1155 = 1200
~ 700+ 600 = 1300v°CA %2900 — 1200 = 1700v'CA
2.2 2.2.1 723 + 586 2.2.2 2850 — 1155 (4)
Estimated answer = 1300 Estimated answer = 1700
1300 + 23 — 14v'M 1700 — 50 + 45v'M
= 1309v'CA = 1695v'CA
Award only 1 mark for the answer if learner did not show the
compensated errors.
2.3 | Multiply the following by using the column Method: (2)
1988 x 34
1988
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X 34

7952v'A
59640 VA

67592 No mark for the final answer.

2.4

1988 x 34 = 67 592 vA one mark for answer.

1)

2.5

R80 000 + R134 = 597,0149254

~ 597 street names can be put up.v'A
597 X R134 = R79 998

R80 000 — R79 998 = R2

= there will be R2 leftv'CA

(2)

[13]

Question 3 [Multiples and Factors]

3.1

1848 132

1848 132

462

924 66

462

462 33

231

RWNN

77

77

11

RN W N

2
2
2
231 |3 11
7
1

11

VA

1848=23x3x7x11
132=22x3x11
462=2x3x7x11

LCM =22x3x7x11=0924vCA
HCF =2 x3x 11 =66vCA

(5)

Question 4 [Integers]

[05]

4.1

The certain number = —12v'A

1)

4.2.1

50 X 33 + 25 x 50
19 x 50 — 50 x 48

(3)
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_50(33+25)
"~ 50(19 — 48)
58
=—vCA
—-29
= —2vCA
422 | -3—-(=2)(5) — (—4)3 (3)
=—-3-10— (—64)¥YM
=—-13+64vCA
= 51vCA
423 |33 _ (_@2 +3¥=6a (5)
—42 x 13 + 17
_ 27vVA— (4)YA+ (—4)YA
B -16+ 17¥M
19
1
= 19v'CA
[12]
Question 5 [Solving Problems]
5.1 4:3vA (1)
5.2 Numbers of pens 2 6 10 12V A 20 (4)
Price in Rands 7 21 35vA 42 70V A
The proportion is direct, as the number of pens increase the price also
increases at the same rate. ¥’A(no mark should be awarded for the reason
if ‘same rate’ is not mentioned).
Or
The proportion is direct, number of pens divided by the price equals a
number of Pens _
constant. v'A (m =a constant)
5.3 Indirect Proportion: number of days x number of tractors = a constant (3)
Let the number of days using 3 tractors equal x.
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xX3=12x5vM
3x = 60¥'CA
x = 20vA

5.4

By the time John catches up with Karabo, the distance travelled by each of
them will be equal.

distance = time x speed

Let John'’s travelling time be = x

Karabo started travelling 2 hours before John
~ Karabo's travelling time will be = (x + 2)

John’s Distance = Karabo’s Distance

time x speed = time x speed

2x X 120=(x+2)x90 vvvM

120x = 90x + 180 v'CA

120x —90x = 180

30x = 180

x=6vCA

It will take John 6 hours to catch up with Karabo.

©)

[13]

The End?
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